
www.prohydraulics.co.za

25

dddSOLIDSHAFT END COVERSD
  4 BOLT ROUND
  6 BOLT ROUND DFB-131
  2 BOLT 3.25” SAE A DWB -131
  2 BOLT 4” SAE B DGB-131
  2 BOLT 4” SAE B SHORT ABD 

   2 BOLT 5” SAE C
  4 BOLT 4” SAE B DEB-131
  4 BOLT 5” SAE C DPB-131
  4 BOLT 6” SAE D
  2/4 BOLT 4” SAE B
  2/4 BOLT 4” SAE B SHORT
  STEP DOWN DDC-131/131
  PAD MOUNT PUMP
  4 BOLT 2.75”

SHAFT END COVERS

SHAFT END COVERS
150 / 151

  4 BOLT ROUND
  6 BOLT ROUND
  2 BOLT 3.25” SAE A
  2 BOLT 4” SAE B DRB-151
  2 BOLT 4” SAE B SHORT
   2 BOLT 5” SAE C DNB-151
  4 BOLT 4” SAE B DHB-151
  4 BOLT 5” SAE C DKB-151
  4 BOLT 6” SAE D
  2/4 BOLT 4” SAE B DDB-151
  2/4 BOLT 4” SAE B SHORT DDB-151-SH
  STEP DOWN
  PAD MOUNT PUMP DMB-151
  4 BOLT 2.75”

130 / 131

Dimensions are for reference purposes only

BEARING RANGE - SHAFT END COVERS



26

www.prohydraulics.co.za

dddSOLIDSHAFT END COVERSD

BEARING RANGE - SHAFT END COVERS

  4 BOLT ROUND
  6 BOLT ROUND
  2 BOLT 3.25” SAE A
  2 BOLT 4” SAE B
  2 BOLT 4” SAE B SHORT
   2 BOLT 5” SAE C DVB-176
  4 BOLT 4” SAE B DSB-176
  4 BOLT 5” SAE C DTB-176
  4 BOLT 6” SAE D DUB-176
  2/4 BOLT 4” SAE B
  2/4 BOLT 4” SAE B SHORT
  STEP DOWN DPB-176 / 131
  PAD MOUNT PUMP
  4 BOLT 2.75”

175/176
SHAFT END COVERS

Dimensions are for reference purposes only


